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® /A =/C, AB//DC

@ aABD = ACDB
(G)AB//DC, AD = BC

@ AD =BC, /A + /B = 180°

® /A + /B =180° (A + /D = 180°
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Ao}, Wzte] S Qe 7

] AAPOQ} ACQO of|A]
(POA = /QOC, A0 =[ |
[PAO = /QOC
" AAPO = ACQO(ASAZHE),
~ PO=QO0
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FAAEE ABCD oA AE BESH A DF - A E D

7} /B &} /D o] o)SB M W], [BFD ] 2 X60°
71=9
B T C

@® 60° @ 80° ® 100°

@)120° ® 140°

A}ZHE ABCD 7} AP o] B2 /BAD + /ABC = 180°
/ABC = 2/EBF ©|2& /EBF = 60° ©]t}.

A2+ BFDE = HajAtHEo|2 2 /EBF + /BFD = 180°
.. /BFD = 120°




4. oo ‘WAAAFA £ Aol tue] Aol 77 2} & 21
Holt}. o gtol] SolZ AL 222 Lresh?
A D
B& C
7} OABCD oA AB // DC, AD // BC

7]

2] AB=CD, AD = BC

] A B9 M DE 0] 2% AABD £} ACDB 4]
AB//DCo]2& /ABD = /CDB (37} -- @

D//BColB& (ADB=[  |(97)
[ Jee5--®
A, ©, ©°l 9814 sAABD = aCDB ([ |35
CD, AD = BC
@ /CDB, BC, SSS @ /CDB, BD, SSS
® /BCD, BC, ASA @ /CDB, BD, ASA

@ZDBC, DB. ASA

AABD 2} ACDB of| A

AB//DCo|2= /ABD = /CDB (312}),
AD //BCo|2& /ADB = /DBC (%97}),
DBE 35 o]22 AABD = ACDB (ASA &%) o]t}




[7}4] oABCD oA AB = DC, AD =
[2&][_1 ]/DC. AD//BC

[_Z_toﬂ] JAQ.;G cs o] ™

AABC ¢} ACDA ]| A

AB=DC (7}@) @

AD = (714) --©

S

@, ©, ©°ll 9I5| AABC = ACDA (2 | &%)
/BAC = /DCA o|B2

[ 7 ]/DC---@®

/ACB=| b Jolm®

AD//BC---@

®, @] ©]ai4 oABCD: H At golrt,

O 1 :AB @ v :BC ® t: AC

@)= SAS ® @1 : /CAD

AABC = ACDA (SSS &%)




YA ABCD oflA] £A, £C & o] 574
AB, CD g].nh,].l— .8 2 71—71—E F ﬂ-
o}, AB = 6cm, BC = 4cm, Z/ADC =
° Y wj, DAECF ¢] Ed]9] Zdo]=?

1

m&“ rPL°

a

@ 10cm @)}12cm ® 1l4cm

@ 16cm ® 18cm

S5 \
AADF, ABEC oA AD = BC, DF = BE, /EBC = /ADF
o|B & SAS §-50]1 pAECF += H Aot}

(ADF = 60°, /BAD = 120°, /FAD = 60° |22, /AFD =
60° o]lB =2

AADF, ABEC &= A4z o|tt,

AE=AB-BE=6-4=2 (cm) o]t}

J= B2 YPAYP AECF 9 =d=
AE4+ECHCF+AF=2+4+2+4=12(cm) °Jth




the 19 9] WAFHE ABCD oA BE =

CE ©]2L AD = 10cm,AB = 7cm € @ ,DF

o Zoli?

® 7cm @ 9cm (@)14(:111
@ 16cm ® 18cm

B

- -10cm. _

/
Tem

AB=DC =7cm, BE =
(AEB = (FEC (%&2]2Z}
/ABE = (FCE (3127}
AABE = AFCE,AB = FC = 7cm
~.DF = DC + FC = 14(cm)

CE=5cm
)




rE

4 % DABCD 7} B A
om.)

FI ALY (" 0=

@AA: 110°, «B=70°, £C=110°
@ AB=BC =4cm, CD =DA =6cm
® E//C_D,E:&:m,C_D:&:m
@ AB//CD, AB=4cm, BC =4cm

® OA =5cm, OB =5cm, OC = 3cm, OD = 3cm




2 197 22 HPAPHY ABCD oA H 0 = F tZ
olt}, AE: EB = 3: 1 9|1 AAEO 2] Ho]7} 18 & of|, HPA}
ABCD 9] Hol=?

® 6 @ 18 ® 24 @ 48 @96

AAOE ¢} ABEO ©f|A] &=o]&= 23l @Ho] 3: 1 0]B2 AAOE :
ABEO =3:1
-.ABEO = %AAEO =6

AAOB =6+ 18 =24
- OABCD =4 x AAOB = 24 x 4 = 96 ©|th.




10.

o 17 22 BPAHF ABCD oA B} /D 2] o] 5RAl0]
AD, BC¢} 9ty He Zt ZH E, Fef 52, BC = 10cm, DC =
6cm, <C = 60°<% w, oBFDE 2] =9 Zo]=?

@ 16cm @ 18cm @QOcm @ 22cm ® 24cm
1 1

(EBF = izB = §zD = /(EDF ---Q
/DEB = 180° - /EBF = 180° — /EDF = /BFD -
D, ©°lA ocEBFD & F+ %< thzte] =227]7t 7—-*7—.* gonz
hic| 6“/\]-tﬂ-aﬂo]1:]-
(EDF = /DFC (.- 31Z}) o] B2 ACDF & o] 584 Ztgo| 1, Al
Zho] BE 60°olm2 A4rzteoltt

.. FC=DC = DF = EB = 6(cm)

s (EEE dol) = (6+4) x2 = 20(cm)

. DE=BF =BC-FC = 10 -6 = 4(cm




11. o3 ¥PArAE ABCD o4 DE += /D 2
ol swAlolth. A A )4 DE °f 412 W&
DE, CD ¢ Wtue= HS 42 p, Q & &
o, /PEB 9] 27]=?

O 110° @ 120° ® 135°

@) 145° ® 150°

LADP = (180° — 110°) + 2 = 35°
/DAP = 90° — 35° = 55°

(PAE = 110° - 55° = 55°

. /PEB = 55° + 90° = 145°




12, o3& F3PAPHY ABCD 9 Yol 160 cm?

A D
°o]7 BCO ZHEP,AQ : QP=3:2¢
o, oQPCO 2] Yol]=?
@ 22cm? @ 24cm? ® 26cm? ‘\
B P C

@28 cm? ® 30cm?

~&B ~

AAPC = %AABC

:lx%xDABCD

2

1 1
= §><§><160
= 40( cm?)

APCO = AAPO = %AAPC

= % X 40 = 20( cm?)
AQ : QP =3:20]2&
AQPO = gAAPO = g x 20 = 8( cm?)

. 0QPCO = APCO + AQPO
=20+ 8 = 28(cm?)




